# Oscillation of Fourth-Order Nonlinear Semi-canonical Difference Equations

#### **B.Kamaraj**

Department of Mathematics, P T Lee Chengalvarayan Naicker Polytechnic College, Chennai-600007, Tamil Nadu, India.

email:kamaraj1928@yahoo.co.in

### **Abstract**

This paper presents the oscillation criteria for the equation  $D\left(a_3(n)\Delta\left(a_2(n)\Delta(a_1(n)\Delta y(n))\right)\right) + q(n)y^\alpha(n-k) = 0, (E)$  where  $\sum_{n=n_0}^{\infty}\frac{1}{a_3(n)}<\infty$ ,  $\sum_{n=n_0}^{\infty}\frac{1}{a_2(n)}=\infty$  and  $\sum_{n=n_0}^{\infty}\frac{1}{a_1(n)}<\infty$ 

First, we transform the equation (E) into a canonical type equation, which reduced the set of nonoscillatory solution of (E) into two types instead of six. Therefore, the investigation of finding oscillation criteria become easy since we have to eliminate only two set of nonoscillatory solutions. Hence the results obtained hence are new complement to existing result.

2020 Mathematics Subject Classification: 34C10, 34K11.

Keywords: Third-order, delay differential equation, oscillation, semi-canonical.

# 1. Introduction

In this paper, we investigate the oscillatory behavior of the semi-canonical fourthorder delay difference equation of the form

$$D_4 y(n) + q(n) y^{\alpha}(n-k) = 0, n \ge n_0 \ge 1$$

where  $D_0y(n) = y(n)$ ,  $D_iy(n) = a_i(n)\Delta(D_{i-1}y(n))$ , i = 1,2,3 and  $D_4y(n) = \Delta(D_3y(n))$ , subject to the following conditions:

 $(H_1)\{a_i(n)\}, j=1,2,3$  are positive sequences of real numbers for all  $n \ge n_0$ ;

 $(H_2)\{g(n)\}\$  is a positive real sequence for all  $n \ge n_0$ ;

 $(H_3)\alpha$  is a ratio of odd positive integers and k is a positive integer;

 $(H_4)\Delta$  is the forward difference operator defined for  $\Delta y(n) = y(n+1) - y(n)$ .

By a solution of (E), we mean a real sequence  $\{y(n)\}$  satisfying (E) for all  $n \ge n_0$ . We consider only such solutions there are nontrivial for all large n.

A solution of (*E*) is called nonoscillatory if it is eventually positive or eventually negative; otherwise it is called oscillatory.

Most of the results known for equation ( E ) when it is in canonical form, that is,

$$\sum_{n=n_0}^{\infty} \frac{1}{a_j(n)} = \infty, j = 1,2,3$$

Next, we introduce the following terminology and classification of (E). Define

$$A_i(n) = \sum_{s=n}^{\infty} \frac{1}{a_j(s)} = \infty, j = 1,2,3$$

300

( E ) is canonical form if

$$A_i(n_0) = \infty, i = 1,2,3 \tag{1.1}$$

and in Noncanonical form if

$$A_i(n_0) < \infty, i = 1,2,3$$
 (1.2)

Semi-canonical form

$$A_1(n_0) = A_2(n_0) = \infty, A_3(n_0) < \infty \tag{1.3}$$

or

$$A_1(n_0) = \infty, A_2(n_0) < \infty, A_3(n_0) = \infty$$
 (1.4)

or

$$A_1(n_0) < \infty, A_2(n_0) = \infty, A_3(n_0) = \infty$$
 (1.5)

Finally, it is in semi-noncanonical form

$$A_1(n_0) = \infty, A_2(n_0) < \infty, A_3(n_0) < \infty$$
 (1.6)

or

$$A_1(n_0) < \infty, A_2(n_0) = \infty, A_3(n_0) < \infty$$
 (1.7)

or

$$A_1(n_0) < \infty, A_2(n_0) < \infty, A_3(n_0) = \infty$$
 (1.8)

Recently, the authors discussed the oscillatory behavior of (E) under condition (1.2). They obtained criteria for the oscillation of (E) by eliminating the following eight possible nonoscillatory solutions of (E).

- (i)  $D_1 y(n) > 0$ ,  $D_2 y(n) > 0$ ,  $D_3 y(n) > 0$ ,  $D_4 y(n) < 0$ ,
- (ii)  $D_1 y(n) > 0$ ,  $D_2 y(n) > 0$ ,  $D_3 y(n) < 0$ ,  $D_4 y(n) < 0$ ,
- (iii)  $D_1 y(n) > 0$ ,  $D_2 y(n) < 0$ ,  $D_3 y(n) < 0$ ,  $D_4 y(n) < 0$ ,
- (iv)  $D_1 y(n) > 0$ ,  $D_2 y(n) < 0$ ,  $D_3 y(n) > 0$ ,  $D_4 y(n) < 0$ ,
- (v)  $D_1 y(n) < 0$ ,  $D_2 y(n) > 0$ ,  $D_3 y(n) > 0$ ,  $D_4 y(n) < 0$ ,
- $(vi) D_1 y(n) < 0, D_2 y(n) < 0, D_3 y(n) > 0, D_4 y(n) < 0,$
- (vii)  $D_1 y(n) < 0$ ,  $D_2 y(n) > 0$ ,  $D_3 y(n) < 0$ ,  $D_4 y(n) < 0$ ,
- (viii)  $D_1 y(n) < 0$ ,  $D_2 y(n) < 0$ ,  $D_3 y(n) < 0$ ,  $D_4 y(n) < 0$ .

In authors discussed the oscillatory behavior of (E) when the condition (1.3) or (1.4) hold and the authors studied similar properties of (E) when the condition (1.5) holds. If there two papers, the authors reduced the equation (E) into canonical form and then obtained the criteria for the oscillation of (E) by eliminating only two sets of nonoscillatory solutions.

Motivated by the above observations, in this paper we find criteria for the oscillation of all solutions of (E) when the condition (1.7) holds. This is achieved by reducing the equation (E) into canonical type and then applying comparison with first-order delay difference equations.

## 2. Main Results

Define

$$b_1(n) = a_1(n)A_1(n)A_1(n+1), b_2(n) = \frac{a_2(n)}{A_3(n)A_1(n+1)}$$

$$b_3(n) = a_3(n)A_3(n)A_3(n+1), Q(n) = A_3(n+1)q(n)A_1^{\alpha}(n-k)$$

and

$$z(n) = \frac{y(n)}{A_1(n)}$$

Theorem 2.1. Assume that

$$\sum_{n=n_0}^{\infty} \frac{A_3(n)A_1(n+1)}{a_2(n)} = \infty$$
 (2.1)

Then the semi-canonical operator  $D_4y$  can be written in canonical form as:

$$D_4 y(n) = \frac{1}{A_3(n+1)} \Delta \left( b_3(n) \Delta \left( b_2(n) \Delta \left( b_1(n) \Delta \left( \frac{y(n)}{A_1(n)} \right) \right) \right) \right)$$
 (2.2)

Proof. Using the difference calculus one can get

$$\frac{1}{A_3(n+1)}\Delta\left(b_3(n)\Delta\left(b_2(n)\Delta\left(b_1(n)\Delta\left(\frac{y(n)}{A_1(n)}\right)\right)\right)\right) = D_4y(n)$$

Further

$$\sum_{n=n_0}^{\infty} \frac{1}{b_3(n)} = \sum_{n=n_0}^{\infty} \frac{1}{a_3(n)A_3(n)A_3(n+1)} = \sum_{n=n_0}^{\infty} \Delta\left(\frac{1}{A_3(n)}\right)$$

$$= \lim_{n \to \infty} \frac{1}{A_3(n)} - \frac{1}{A_3(n_0)} = \infty$$

$$\sum_{n=n_0}^{\infty} \frac{1}{b_1(n)} = \sum_{n=n_0}^{\infty} \frac{1}{a_1(n)A_1(n)A_1(n+1)} = \sum_{n=n_0}^{\infty} \Delta\left(\frac{1}{A_1(n)}\right)$$

$$= \lim_{n \to \infty} \frac{1}{A_1(n)} - \frac{1}{A_1(n_0)} = \infty$$

and

$$\sum_{n=n_0}^{\infty} \frac{1}{b_2(n)} = \sum_{n=n_0}^{\infty} \frac{A_1(n+1)A_3(n)}{a_2(n)} = \infty$$

by (2.1). Hence the right hand side of (2.2) in canonical form.

From the above theorem, we obtain the following Corollary.

Corollary 2.2. Let (2.1) hold. Then y(n) is a solution of (E) if and only if the canonical equation

$$L_4 z(n) + Q(n) z^{\alpha} (n-k) = 0, n \ge n_0$$
 (c)

where  $L_0z(n) = z(n)$ ,  $L_iz(n) = b_i(n)\Delta(L_{i-1}z(n))$ , i = 1,2,3 and  $L_4z(n) = \Delta(L_3z(n))$ , has a solution  $z(n) = \frac{y(n)}{A_1(n)}$ .

The next lemma gives us the classification of positive nonoscillatory solutions of  $(E_c)$ . (see [1,5]).

Lemma 2.3. Let  $\{z(n)\}\$  be an eventually positive solution of  $(E_c)$ . Then one of the following cases holds:

$$(C_1)L_1z(n) > 0, L_2z(n) < 0, L_3z(n) > 0, L_4z(n) < 0,$$

$$(C_2)L_1z(n) > 0, L_2z(n) > 0, L_3z(n) > 0, L_4z(n) < 0.$$

From the transformation  $y(n) = A_1(n)z(n)$ , we see that the oscillation of z(n) implies that of y(n). Therefore, the oscillation of  $(E_c)$  implies that of (E).

Theorem 2.4. Assume (2.1) holds. If

$$\sum_{n=n_0}^{\infty} Q(n) = \infty \tag{2.3}$$

then equation (E) is oscillatory.

Proof. Assume the contrary that  $\{y(n)\}$  is an eventually positive solution of (E). Then by Corollary 2.2, the sequence  $\{z(n)\}$  is also a positive solution of  $(E_c)$  and by Lemma 2.3, the sequence  $\{z(n)\}$  belongs to  $(C_1)$  or  $(C_2)$ , for all  $n \ge n_1 \ge n_0$ .

In both cases z(n) is increasing, so there exists a constant M > 0 and an integer  $n_2 \ge n_1$  such that  $z(n) \ge M$  for all  $n \ge n_2$ . Using this in  $(E_c)$  and then summing from  $n_2$  to n, we get

$$M^{\alpha} \sum_{s=n_2}^{n} Q(s) \le L_3 z(n_2) - L_3 z(n+1) \le L_3 z(n_2)$$

since in both cases  $L_3z(n) > 0$ . This contradiction completes the proof.

Remark 2.5. This theorem is independent of the values of  $\alpha$  and the delay argument k. Hence, it is applicable to linear, sublinear, or superlinear equations as well as to ordinary, delay or advanced type equations.

Note that the results true for canonical equations knows in the literature can be applied to the equation  $(E_c)$  to get oscillation results for (E).

Example 2.1. Consider the fourth-order delay difference equation

$$\Delta\left(n(n+1)\Delta\left(\frac{1}{n}\Delta(n(n+1)\Delta y(n))\right)\right) + q_0(n-k)^{\alpha}y^{\alpha}(n-k) = 0$$
 (2.4)

where  $q_0 > 0$  and  $n \ge n_0 + k$ .

By a simple calculations, we see that  $A_1(n) = A_3(n) = \frac{1}{n}$ ,  $b_1(n) = 1$ ,  $b_2(n) = n + 1$ ,  $b_3(n) = 1$  and  $Q(n) = \frac{q_0}{n+1}$ . The condition (2.3) becomes

$$\sum_{n=n_0}^{\infty} \frac{q_0}{n+1} = \infty$$

that is, condition (2.3) holds if  $q_0 > 0$ . Therefore by Theorem 2.4, the equation (2.4) is oscillatory.

### References

- [1] R.P. Agarwal, Difference Equations and Inequalities, Marcel Dekker, New York, 2000. [2] R.P. Agarwal, M. Bohner, S.R. Grace and D.O'Regan, Discrete Oscillation Theory, Hindawi, New York, 2005.
- [3] K. Alagesan, S. Jaikumar and G. Ayyappan, Some new oscillation criteria for fourth-order nonlinar delay differnce equations, Abstr. Appl. Anal., Vol.2020, Article ID. 1653081.
- [4] Z. Dosla and J. Krejcova, Oscillation of a class of the fourth-order nonlinear difference equations, Adv. Difference Equations, 2012, 2012:99, 14 pages.
- [5] M. Migda, On the discrete version of genralized Kigurade's lemma, Fasc. Math., 35(2005), 77-83. [6] E. Thandapani and I.M. Arockiasamy, Fourth-order nonlinar oscillations of difference equations, Comput. Math. Appl., 42(2001), 357-368.